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MOVEMENT AND LOCOMOTION

Multiple Choice Questions

1. The biceps and triceps muscles are found in

A. thigh

B. floating ribs

C. lower jaw

D. forearm

Answer: D
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2. Which of the following muscles bend the forearm upwards?

A. triceps

B. biceps

C. gluteus maximus

D. gastrocnemius

Answer: B

° Watch Video Solution

3. Which of the following bones are the longest in the body ?.

A. two femurs

B. two unlas

C. two tibias


https://dl.doubtnut.com/l/_vv2IHvwzW32V
https://dl.doubtnut.com/l/_PN3AfdzVkhGr
https://dl.doubtnut.com/l/_masn6F15P5lC

D. two fibulas

Answer: A

° Watch Video Solution

4.The ends of two bones are connected by

A. tendons

B. ligaments

C. muscles

D. cartilages

Answer: B

° Watch Video Solution

5. An individual muscle fibre is wrapped by


https://dl.doubtnut.com/l/_masn6F15P5lC
https://dl.doubtnut.com/l/_p5u8Nee41ZCM
https://dl.doubtnut.com/l/_Mra8IHz8o3HB

A. endomysium

B. epimysium

C. sarcomeres

D. perimysium

Answer: A

° Watch Video Solution

6. A pivot joint can be found between

A. radius and ulna

B. tibia and fibula

C. clavicle and sternum

D. scapula and humerus

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Mra8IHz8o3HB
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7. The ribs articulate with the

A.sacrum

B. lumbar vertebrae

C. thoracic vertebrae

D. cervical vertebrae

Answer: C

o Watch Video Solution

8. What is the term used for the opening or hole in a bone?

A. fossa

B. tubercle

C. process


https://dl.doubtnut.com/l/_50duewYRWLIG
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D. forearm

Answer: D

° Watch Video Solution

9. Which of the following diarthrotic joints allow for the greatest degree

of movement?

A. pivot

B. gliding

C. ball and socket

D. hinge

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KrXtzY6Be3X1
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10. Muscle contraction requires

A. action potential

B. ATP

C.Ca’t

D. all of the above

Answer: D

o Watch Video Solution

11. Synovial joints may be classified into subtypes according to

A. shape

B. number of bones

C. amount of synovial fluid

D. amount of cartilage


https://dl.doubtnut.com/l/_SGbX0TcgiA5d
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Answer: A

° Watch Video Solution

12. Which of the following is involved in muscle contraction?

A. troponin

B.Ca’*

C. creatine phosphokinase

D. all of the above

Answer: D

° Watch Video Solution

13. Which of the following changes occur when a skeletal muscle

contracts?


https://dl.doubtnut.com/l/_BdCq4NQ2uO9o
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A. 1 bands shorten

B. actin filaments contract

C. A abnds shorten

D. Z lines slide farther apart

Answer: A

o Watch Video Solution

14. Which one of the following is mismatched?

A. hinge joint-hip

B.immovable joint--sutures in cranium

C. synovial joint-elbow

D. slightly movable joint vertebrae.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HqeEmIwzDEMt
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15. When muscles contract

A. myosin slides past actin
B. calcium is taken up by calcium storage sacs
C. sarcomeres increase in size

D. H zone disappears

Answer: D

o Watch Video Solution

16. Humerus bone is present in the

A. lower arm

B. thigh

C.upper arm


https://dl.doubtnut.com/l/_5B59DiElT19g
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D. lower jaw

Answer: C

° Watch Video Solution

17. The vertebrae atlas and axis belongs to

A. cervial

B. coccygeal

C. thoratic

D. lumbar

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DSHATjLhDHIP
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18. In humans vestige of the tail is made up of tour fused bones. This

structure is known as

A. coccyx

B. centrum

C.sacrum

D. sternum

Answer: A

o Watch Video Solution

19. The musele fatigue occus due to accumulation of

A. glycogen

B. lactic acid

C.CO,

D. creatine phosphate


https://dl.doubtnut.com/l/_fzHuzxZF6p0A
https://dl.doubtnut.com/l/_yZ5YO7k5SRKK

Answer: B

° Watch Video Solution

20.The proteins found in filaments of muscle fibres are

A. action only

B. actin and myosin

C. myelin and tubulin

D. myosin and elastin

Answer: B

° Watch Video Solution

21. The joint between human skill bones is

A. hinge joint


https://dl.doubtnut.com/l/_yZ5YO7k5SRKK
https://dl.doubtnut.com/l/_bHnhGKKJFexi
https://dl.doubtnut.com/l/_8ur1ZO29napQ

B. cartilaginous joint

C.immovable joint

D. synovial joint

Answer: C

° Watch Video Solution

22.Innomiate is

A. an artery

B. a nerve

C. a part of skeleton and an artery

D. a vein

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8ur1ZO29napQ
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23. Which of the following components is a part of the pectoral girdle?

A. glenoid cavity

B. sternum

C. acetabulum

D. illum

Answer: A

o Watch Video Solution

24. Which of the following sets of ions is necessary in chemical events for
muscle contraction?

A Kt&Na™

B.Nat&Fe™ ™+

C.K"&Ca™

D.Ca™ T&Mg™* ™


https://dl.doubtnut.com/l/_Wwh55UziktwV
https://dl.doubtnut.com/l/_FlhRbZchfheE

Answer: D

° Watch Video Solution

25. The strongest muscle of the bod is found in

A. thigh

B. fingers

C. wrist

D. jaws

Answer: D

° Watch Video Solution

26. Which of the following bones is the only bone in the body that is not

in contact with another bone?


https://dl.doubtnut.com/l/_FlhRbZchfheE
https://dl.doubtnut.com/l/_rySj6uzx8DC3
https://dl.doubtnut.com/l/_hl5Gi34mOdG5

A. atlas

B. floating ribs

C. hyoid bone

D. ethmoid bone

Answer: C

o Watch Video Solution

27. Which of the following structures provides flexibility to a joint while at

the same time resisting dislocation?

A. muscles

B. ligaments

C. articular cartilage

D. synovial fluid

Answer: B



https://dl.doubtnut.com/l/_hl5Gi34mOdG5
https://dl.doubtnut.com/l/_9zrRdyeeRB5N

| ° Watch Video Solution

28. In a skeletal muscle cell, which of the following is the basic unit of

contraction

A. myofibril

B. mvosin filament

C. muscle fibre

D. sarcomere

Answer: D

° Watch Video Solution

29. The parietal bone is the example of which of the following types of

bones

A.long


https://dl.doubtnut.com/l/_9zrRdyeeRB5N
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B.irregular

C.short

D. flat

Answer: D

° Watch Video Solution

30. Which of the following is not a result of muscular contraction ?

A. motion

B. maintenance of posture

D. production of heat

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gHL7FhwQQ4xu
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31. ATP for muscle contraction can be formed by

A. glycolysis
B. aerobic respiration
C. creatine phosphate breakdown

D. all of the above

Answer: D

o Watch Video Solution

32. Which of the following has a sigmoid notch?

A. humerus.
B. femur
C.radius-ulna

D. tibia-fibula


https://dl.doubtnut.com/l/_yAn6fMbaCD8E
https://dl.doubtnut.com/l/_upZLId9xdQhn

Answer: C

° Watch Video Solution

33. Repetitive muscular activity at moderate levels, such as weight

training can result in

A. Mood swings

B. a decline in health

C.denervation atrophy

D. muscular hypertrophy

Answer: D

° Watch Video Solution

34. Which oi the following is the direct source of energy for muscle

contraction?


https://dl.doubtnut.com/l/_upZLId9xdQhn
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A. creatine phosphate

B. ATP

C. lactic acid

D.botha &b

Answer: D

o Watch Video Solution

35. Which of the following occurs during muscle contraction?

A.Z lines move closer together

B. muscles fibres lengthen

C.reduction of ATP liberates oxygen

D. filaments of myosin slide past filaments of actin

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mS6t7kXIuAF6
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36. Following muscle contraction in response to a stimulus, the muscle

temporarily cannot respond. This known as

A. motor end plate

B. summation period

C.refractory period

D. 02 debt

Answer: C

o Watch Video Solution

37.Voluntary and non-voluntary muscle are classified

A. according to the structure

B. according to the function

C.bothaandb


https://dl.doubtnut.com/l/_hO0UapMcSZoq
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D. according to the distribution

Answer: B

° Watch Video Solution

38. Skeletal muscle constitute about

A. 20%-30% body weight

B. 30%-40% body weight

C. 40%-45% body weight

D. 45%-50% body weight

Answer: C

o Watch Video Solution

39. The refactory period of mammalian skeletal muscle is


https://dl.doubtnut.com/l/_ZcGhMocVg8AV
https://dl.doubtnut.com/l/_0fkWUaar397E
https://dl.doubtnut.com/l/_dQRPp5t7qoHK

A. 0.005 sec

B. 0.002 sec

C.0.003 sec

D. 0.02 sec

Answer: B

o Watch Video Solution

40. The minimum strength of galvanic current required to flow

indefinitely to excite a muscle is called

A. latent period

B. chronaxie

C.clonus

D. rheobase

Answer: B



https://dl.doubtnut.com/l/_dQRPp5t7qoHK
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| ° Watch Video Solution

41. Inter-articular disc occurs in

A. wall of liver

B. in between two vertebrae

C. wall of heart

D. pubic symphysis

Answer: B

° Watch Video Solution

42, Which is true of muscle contraction?

A. sarcolemma becomes permeable to Na ™ ions

2+

B. concentration of Ca”™ ions is reduced in myoplasm

C. sarcolemma becomes nonpermeable to Na™ ions


https://dl.doubtnut.com/l/_D8nEgVOQznmV
https://dl.doubtnut.com/l/_ak63JgA1ACiz
https://dl.doubtnut.com/l/_2wLd0IgzNXIl

D. sarcolemma becomes permeable to Ca ™ ions

Answer: A

° Watch Video Solution

43. Astragalus and calcaneum are part of

A. clavicle

B. scapula

C. hind limb

D. fore limb

Answer: C

° Watch Video Solution

44.Which opening occurs in a pair?


https://dl.doubtnut.com/l/_2wLd0IgzNXIl
https://dl.doubtnut.com/l/_lfh12oU8EPfn
https://dl.doubtnut.com/l/_VYPQMc6RZ7N3

A. foramen magnum

B. fenstra rotundus

C. obturator foramen

D. foramen ovalis

Answer: C

° Watch Video Solution

45. Muscular and nervous excitability is redued by

AK™T
B.Ca’™t
C.Mg*™"

D.Na™*

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VYPQMc6RZ7N3
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46. Joint between atlas and odontoid process of

A. hinge joint

B. angular joint

C. pivot joint

D. saddle joint

Answer: C

o Watch Video Solution

47. In hurdle race, what is major source of energy to leg muscle

A. oxidation metabolism

B. glycolysis

C. pyruvate and lactate


https://dl.doubtnut.com/l/_8b5EKgMTGjq8
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https://dl.doubtnut.com/l/_SMPU3F2jOmzW

D. preformed ATP

Answer: D

° Watch Video Solution

48. On stimulation of skeletal muscle, calcium is immedialtely made

available for binding to troponin from

A. lymph

B. bone

C. sarcoplasmic reticulum

D. blood

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SMPU3F2jOmzW
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49. Which is wrongly matched

A. tendon-connective tissue

B. smooth muscle -involuntary muscle

C. myosin- contractile protein

D. troponin-fibrous protein

Answer: D

o Watch Video Solution

50. Centrum of 8th vertebrae of frog is

A. acoelous

B. amphicoelous

C. procoelous

D. amphiplatyan


https://dl.doubtnut.com/l/_xbwhuFRB0l7m
https://dl.doubtnut.com/l/_P9ygmtrceYXA

Answer: B

° Watch Video Solution

51. The unpaired facial bone is

A. nasal

B. palatine

C.vomer

D. lacrimal

Answer: C

° Watch Video Solution

52. Wall of internal organs (stomach, intestine, blood vessel) contain

muscles



https://dl.doubtnut.com/l/_P9ygmtrceYXA
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A. smooth

B. striped

C. cardiac

D. none of the above

Answer: A

o Watch Video Solution

53.The paget's disease is cause by

A. excessive alkaline phosphate

B. prolonged deficiency of Vitamin D in adults

C. excess production and abnormal organisation of collagen

D. abnormal bone resorption by abnormal osteoclasts

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dXsjnbYKcTrL
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54.The function of Na* and K pump is to

A.Cl- outand Na™ in
B.Natoutand K™ in
C.Na‘tout and Cl in

D. K "out and Na™ in

Answer: C

o Watch Video Solution

55. Liver necrosis and muscular dystrophy are caused by the lack of this

trace element

A. arsenic

B. selenium

C. zinc


https://dl.doubtnut.com/l/_E0QHh9xcN0qb
https://dl.doubtnut.com/l/_0UEBTObIyoLX
https://dl.doubtnut.com/l/_OAA9OsU5X2Ck

D. molybdenum

Answer: B

° Watch Video Solution

56.Energy is stored in the liver and muscles in the form of

A. glycogen

B. protein

C.fat

D. carbohydrates

Answer: A

o Watch Video Solution

57.1n human beings the cranium is formed by


https://dl.doubtnut.com/l/_OAA9OsU5X2Ck
https://dl.doubtnut.com/l/_q9kt37R1HAow
https://dl.doubtnut.com/l/_S6zFSwCjCHIQ

A. ten bones of which two are paired

B. eight bones of which are paired

C. tweleve bones of which four are paired

D. fouteen bones of which six are paired

Answer: B

o Watch Video Solution

58. Which ribs show "bucket-handle" type of movement?

A.rib no. 3-5

B. rib no. 1-2

C.rib no. 11-12

D. rib no. 6-10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_S6zFSwCjCHIQ
https://dl.doubtnut.com/l/_K8VsC4DfXIsF

59. The type of muscle fibre present in the wall of alimentary canal is

A. cardiac musle fibre

B. smooth muscle fibre

C.bothaandb

D. striped muscle fibre

Answer: B

° Watch Video Solution

60. Which of the following is the correct description of a certain part of a

normal human skeleton?

A. glenoid cavity is depression to which the thigh bone articulates

B. the 9th and 10th pairs of ribs are called the floating ribs

C. first vertebrae is axis which articulates with the occipital condyles


https://dl.doubtnut.com/l/_K8VsC4DfXIsF
https://dl.doubtnut.com/l/_UmTgLFhjLQji
https://dl.doubtnut.com/l/_93JmexN48A1D

D. parietal bone and the temporal bone of the skull are joined by

fibrous joint

Answer: D

° Watch Video Solution

61. The number of occipital condyles is man is/are.

A. two
B. four
C. five

D. three

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_93JmexN48A1D
https://dl.doubtnut.com/l/_Y9HvFeKWwU2c

62. The matrix of bone and cartilage can be distinguished by the presence

of

A.lacuna

B. chromatophores

C. adipose cells

D. haversian canal

Answer: D

o Watch Video Solution

63.Low Ca ™ in the body fluid may be the cause of

A. gout
B. tetany
C.angina pectoris

D. anaemia


https://dl.doubtnut.com/l/_OvFBVOb2mEyK
https://dl.doubtnut.com/l/_3xAqMw4c8Dnj

Answer: A

° Watch Video Solution

64. Progressive degeneration of skeletal muscle, mostly due to genetic

disorder occurs in

A. arthritis

B. myasthenia gravis

C. osteoporosis

D. muscular dystrophy

Answer: D

° Watch Video Solution

65. Which of the statements about the mechanism of muscle contraction

are correct?


https://dl.doubtnut.com/l/_3xAqMw4c8Dnj
https://dl.doubtnut.com/l/_isq3TXBETej7
https://dl.doubtnut.com/l/_Njofoa1D0fqf

l. acetylcholine is released when the neural signal reaches the motor end
plate

Il. muscle contraction is initiated by a signal sent by CNS via a sensory
neurone

ll. during muscle contraction, isotropic band gets elongated.

IV. repeated activation of the muscles can lead to lactic acid

accumulation.

A.1 & Il are correct

B. Il & Ill are correct

C.L1II & Ill are correct

D.1 & IV are correct

Answer: D

o Watch Video Solution

66. Scapula is a arge triangular flat bone situated in the dorsal part of the

thorax between


https://dl.doubtnut.com/l/_Njofoa1D0fqf
https://dl.doubtnut.com/l/_CorQ2nS8W4a0

A. the second and seventh ribs

B. the fourth and seventh ribs

C.the second and fifth ribs

D. the third and sixth ribs

Answer: A

o Watch Video Solution

67. The type of muscles present in our

A. heart are involuntary and unstriated smooth muscles

B. thigh are straiated and voluntar

C. upper arm are smooth muscle fibres fusiform in shape

D. intestine are striated and voluntary

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CorQ2nS8W4a0
https://dl.doubtnut.com/l/_pKSKGIvvCEau

68. Actin bindings sites are located on

A. booth troponin and tropomysin

B. troponin

C. both tropomyosin and meromyosin

D. Meromyosin

Answer: D

o Watch Video Solution

69. The coxal of the pelvic girdle is formed by the fusion of

A. scapula and clavicle

B. ilium & scapula

C.ilium, ischium and pubis


https://dl.doubtnut.com/l/_pKSKGIvvCEau
https://dl.doubtnut.com/l/_GzbCbV5CrTpU
https://dl.doubtnut.com/l/_aC8ch27K5lIm

D. clavicle and pubis

Answer: C

o Watch Video Solution

70. Selected the correct statement regarding the specific disorder of

muscular or skeletal system.

A. myasthenia gravis-auto immune disorder which inhibits sliding of

myosin filaments

B. gout-inflammation of joints due to extra deposition of calcium

C. muscular dystrphy-age related shortening of muscles

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aC8ch27K5lIm
https://dl.doubtnut.com/l/_CrGLhz9OlUbh
https://dl.doubtnut.com/l/_fsLtD6SJhmxG

71. The Hzone in the skeletal muscle fibre is due to

A. the central gap between mysoin filaments in the A-band
B. extension of myosin filaments in the central portion of the A-band

C.the central gap between actin filaments extendin through myosin

filaments in the A-band

D. the absence of myofibrils in the central portion of A-band

Answer: A

o Watch Video Solution

72. Select the correct statement with respect to locomotion in humans

A.a decreased level of progesterone causes osteoporosis in old
people
B. the vertebral column has 10 thoracic vertebrae

C. the joints between adjacent vertebrae is a fibrous joint


https://dl.doubtnut.com/l/_fsLtD6SJhmxG
https://dl.doubtnut.com/l/_NcM4RbXuvrFs

D. accumulartion of uric acid crystals in joints causes their inflamtion

Answer: D

o Watch Video Solution

73.The characteristics and an example of synovial joint in humans is

A.
Characteristics Examples
(a) fluid filled between two joints, provides cushion skull bones
B.
Characteristics Examples
(b) fluid filled synovial cavity between two bones joint between ¢
C.
Characteristics Example
(¢) lymph filled between two bones, limited movement gliding jc
D.

Characteristics Exan
(d) fluid cartilatge between two bones, limited movements knee

Answer: B


https://dl.doubtnut.com/l/_NcM4RbXuvrFs
https://dl.doubtnut.com/l/_v4RfbFtbPAuD

° Watch Video Solution

74. Which of the following is not involved in muscular contraction?

A. Calcium ion

B. Troponin

C. Actin

D. Magnesium ion

Answer: D

o Watch Video Solution

75.Knee joint is an example of

A. ball and socket joint

B. hinge joint

C. pivot joint


https://dl.doubtnut.com/l/_v4RfbFtbPAuD
https://dl.doubtnut.com/l/_kxlzsvfYZNzz
https://dl.doubtnut.com/l/_ry9QVF3QQpyg

D. gliding joint

Answer: B

° Watch Video Solution

76.The globular head of myosin contains

A. calcium ions in large quantities

B. troponin

C. ATPase enzyme

D. ATP

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ry9QVF3QQpyg
https://dl.doubtnut.com/l/_f9VeP2ZLidAs

77. For the given statements 'X' and 'Y', which option is the correct option

Statement 'X' Red muscle are also called aerobic muscle

Statement 'Y' Red muscle posses large amount of mitochondria which can

utilise large amount of oxygen stored in them for ATP production.

A. Statement 'X' is correct and 'Y' is incorrect

B. Statement 'X' and 'Y' are correct and Statement 'Y' is incorrect

explanation of 'X'.

C. Statement 'X' is incorrect and 'Y' is correct

D. Statement 'X' and 'Y' are correct and statement 'Y' is correct

explanation for X'

Answer: D

o Watch Video Solution

78. The structural unit of bone is


https://dl.doubtnut.com/l/_FUcoRDD3W1Nc
https://dl.doubtnut.com/l/_CUZ1GjIVriIU

A. chondrin

B. cyton

C. osteon

D. ossein

Answer: C

o Watch Video Solution

79. Identify vertebrochondral ribs from the following

A. All 12 pairs of ribs

B. 1st to 7th pairs of ribs

C. 8th, 9th and 10th paris of ribs

D. 11th and 12th pairs of ribs

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CUZ1GjIVriIU
https://dl.doubtnut.com/l/_7YiIzZnaLLjD

80. Glenoid cavity articulates

A. humerus with scapula

B. clavicle with acromion

C. scapula with acromion

D. clavicle with scapula

Answer: A

o Watch Video Solution

81. The H-zone of muscle fibre

A. Only actin present

B. Only myosin present

C. Both actin and myosin present


https://dl.doubtnut.com/l/_7YiIzZnaLLjD
https://dl.doubtnut.com/l/_kkT8cAhVvIOx
https://dl.doubtnut.com/l/_iZLu4Ly4K6uv

D. Only tropamyosin present.

Answer: B

° Watch Video Solution

82.Smooth muscles are

A. Voluntary, spindle shaped, uninucleated.

B. Involuntary, fusitorm, Kon striated

C. Voluntary, multinucleated, cylindrical.

D. Involuntary, cylindrical, striated

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iZLu4Ly4K6uv
https://dl.doubtnut.com/l/_CZkj708M0JKl

83. Lack of relaxation between successive stimuli is subtained muscle

contraction is known as

A. Fatigue

B. Tetanus

C. Tonus

D. Spasm

Answer: B

o Watch Video Solution

84. Which one of the following is not releated with bone disorder.

A. Arthristis

B. Osteoporosis

C. Athrosclerosis

D. Ricket


https://dl.doubtnut.com/l/_p3Q3D30SGLJx
https://dl.doubtnut.com/l/_z0YjtpTI25HQ

Answer: C

° Watch Video Solution

85. Intercalated disc is found in

A. Skeletal muscle

B. Smooth muscle

C. Cardiac muscle

D. None of these

Answer: C

° Watch Video Solution

86. Which one of the following is not a property of white muscle

A.Z line is narrow


https://dl.doubtnut.com/l/_z0YjtpTI25HQ
https://dl.doubtnut.com/l/_NFumNj6gtDAX
https://dl.doubtnut.com/l/_iZRUh8x9SrhV

B. Presence of reduced amount of myoglobin

C. Twitch time is much less

D. Can function for a long time, do not get fatigued easily

Answer: D

° Watch Video Solution

87. The pivot joint between the atlas and axis is a type fo

A. Cartilaginous joint

B. Synovial joint

C.Saddle joint

D. Fibrous joint

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iZRUh8x9SrhV
https://dl.doubtnut.com/l/_A1Fl6ljdUlsQ
https://dl.doubtnut.com/l/_Y6Nk58zOD2Hw

88. Out of X' pairs of ribs in human only 'Y' pairs are true ribs. Select the

option that correctly represents values of X and Y and provides their

explanation

A.X=12, Y=5, True ribs are attaced dorsally to vertebral column and

sternum on the two ends

B. X=24, Y=7, True ribs are dorsally attached to vertebral column but

are free on ventral side.

C.X=24, Y=12, True ribs are dorsally attached to vertebral column but

are free on ventral side

D.X=12, Y=7, True ribs are attached dorsally to ventral column and

ventrally to the sternum

Answer: D

° Watch Video Solution

Choose More Than One Options



https://dl.doubtnut.com/l/_Y6Nk58zOD2Hw

1. Which are correct?

A.Na™ ions helps retain water
B. Na™ ions transport substances across membrane
C. Na™ ions takes part in thermo regulation

D. Na™ ions helps in conduction of nerve impulse

Answer: A::B::D

o Watch Video Solution

2. Select the incorrect statements regarding the specific disorder

A. Osteoporosis: decrease in bone mass and higher chances of

factures with advancing age

B. Myasthenia gravis : autoimmune disorder which inhibits sliding of

myosin filaments


https://dl.doubtnut.com/l/_WRNVHCwWsQ5O
https://dl.doubtnut.com/l/_9oJAhWF39v2M

C. Gout: inflamation of calcium due to extra deposition of calcium.

D. Muscular dystrophy: age related shortening of muscle

Answer: B::C::D

o Watch Video Solution

3. Select correct statements with respect to locomotion in humans.

A. accumulation of uric acid in joints kinuses their inflamation.

B. the vertebral column has 12 thoracic vertehrae

C. the joint between adjicent vertebrac is a fibrous Joint

D.the decreased level of progesterone causes osteoporsis in old

people

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_9oJAhWF39v2M
https://dl.doubtnut.com/l/_Lpte900V4c7K
https://dl.doubtnut.com/l/_Mg3CtpAQ4bDF

4. In case of slow twitch muscle, which of the following statements are

correct?

A. it has less ATPase activity

B. it has more mitochondria.

C. it has less myoglobin

D. it obtains energy by aerobic respiration

Answer: A::B::D

o Watch Video Solution

5. Which of thie Following statements ar correct?

A. heart muscles are voluntary

B. the muscles of hands and legs are striated and voluntary

C.the muscles located in the inner walls of alimentary canal are

unstraiated and involunary


https://dl.doubtnut.com/l/_Mg3CtpAQ4bDF
https://dl.doubtnut.com/l/_ADI0GNizBG7X

D. muscles located in the respiratory tracts are unstraiated and

involuntary

Answer: B::C::D

° Watch Video Solution

6. Which of the following are correct about smooth muscle?

A. rhythmicity

B. tetanus

C. all or none law

D. refractory period

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_ADI0GNizBG7X
https://dl.doubtnut.com/l/_bBL83QS7s9hq

7. Which of the following are true?

A. acting present in thin filament

B.H zone of striated muscle fibre represents both thick and thin

filaments

C. human skeleton has 206 bones

D. stermum is present on the ventral side of the body.

Answer: A::C::D

o Watch Video Solution

8. Which of the following pairs are correct?

A. Flexor muscle-biceps

B. Extensor muscle-tricepes

C. Adductor muscle


https://dl.doubtnut.com/l/_I0WJudMLp5D3
https://dl.doubtnut.com/l/_mEWRdxzN52gr

D. Abductor muscle- deltoid

Answer: A::B::D

° Watch Video Solution

9. Which of the following pairs are correct

A. troponin-l-affinity to actin protein

B. troponin-T- affinity to tropomyosin

C. troponin-C- affinity to calcium ions

D. | zone- actin filament

Answer: A::B::C::D

o Watch Video Solution

10. Which of the following pairs are correct?


https://dl.doubtnut.com/l/_mEWRdxzN52gr
https://dl.doubtnut.com/l/_eRJUNneLXJSS
https://dl.doubtnut.com/l/_0MB1LHmDn3pv

A. axis and atlas-pivot joint

B. carpal and metacarpal-saddle joint

C. between phalangescartilaginous joint

D. between cranial bones- fibrous joint

Answer: A::B::D

o Watch Video Solution

11. Which of the following pairs are correct?

A. actin filament-l band

B. sarcomere-Z band

C. smooth muscle involuntary and striaied

D. cardiac muscle- striated and intercalated disc

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_0MB1LHmDn3pv
https://dl.doubtnut.com/l/_86Qfd2YHmtvf

12. Which of the following are true about human skeleton?

A. skull is dicondylic

B. metacarpals are five in numbers

C. petella is a cup-shaped bone covering the knee dorsally

D.scapula is a large angular flat bone situated the ventral side of

thorax

Answer: A::B::D

o Watch Video Solution

13. Which of the following event occuring in muscular contain?

A. H-zone disappears

B. A-band widness


https://dl.doubtnut.com/l/_86Qfd2YHmtvf
https://dl.doubtnut.com/l/_mOO3EbqXjLny
https://dl.doubtnut.com/l/_l7G0ULb4CGw2

C. I-band reduces in width

D. M-line and Z-line come closer

Answer: A::C::D

o Watch Video Solution

14. Which of the following statements are incorrect?

A. 1st vertebra is axis which with occipital condyles

B. partietal bone and temporal bone of skull are jointed by fibrous

joint

C. 9th and 10th pairs of ribs are called floating ribs

D. glenoid cavity is depression to which thigh bone articulates

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_l7G0ULb4CGw2
https://dl.doubtnut.com/l/_OZeC1n3iAVBH

Fill In The Blanks

1. A synovial cavity is found in _joint.

o Watch Video Solution

2.Longest bone in the human body .

o Watch Video Solution

3.The total number of vertebrae in infantis .

o Watch Video Solution

4. muscle fibres store much Oj in combination with .

o Watch Video Solution



https://dl.doubtnut.com/l/_aGobx2puxMR2
https://dl.doubtnut.com/l/_qLHSVL21LP0t
https://dl.doubtnut.com/l/_hzA6s7oCWJjT
https://dl.doubtnut.com/l/_JzhwgEHWsfQE
https://dl.doubtnut.com/l/_MPiAbGrlYuZ8

5. number of bone is present in the human skull.

° Watch Video Solution

6. Anaerobic work becomes painful because of the accumulation of .

o Watch Video Solution

7.The ankle, knee and elbow joints are all _joints.

° Watch Video Solution

8. The fast two pairs of ribs forming the sides of the chest cavity are

called _ribs.

° Watch Video Solution



https://dl.doubtnut.com/l/_MPiAbGrlYuZ8
https://dl.doubtnut.com/l/_0N9gJEGmbG7K
https://dl.doubtnut.com/l/_w3rUG1iNIZoj
https://dl.doubtnut.com/l/_O1Js3nvlqY4j

9. The total number of muscles in the body of manis .

o Watch Video Solution

10. The all-or-none law of muscle contraction refers to a maximum

contraction or no contraction ofa__.

o Watch Video Solution

1. __is an example of the articulation of femur and pelvic girdle.

o Watch Video Solution

12.In the human body the number of bones is__.

o Watch Video Solution



https://dl.doubtnut.com/l/_JYJygS1LwAVS
https://dl.doubtnut.com/l/_XdSlVu1jCPMV
https://dl.doubtnut.com/l/_APfqUQhUKYB9
https://dl.doubtnut.com/l/_lQS1vw4vi31z

13. During the flexion of the elbow joint, the _muscle contracts and the

__muscle relase.

° Watch Video Solution

14. The elastic rubber-like cap by which the ends of bones are covered is

known as__.

° Watch Video Solution

15. The skull bones are joined at the sutures by tissues and the bodies

of vertebrae are joined by tissue.

° Watch Video Solution

16. bones form the base of the skull.

° Watch Video Solution



https://dl.doubtnut.com/l/_BgGqwOuRT2vt
https://dl.doubtnut.com/l/_nQz3dsbFpqS3
https://dl.doubtnut.com/l/_kRgLg8arO08J
https://dl.doubtnut.com/l/_yTW2E7EoEN83

17. Latent period is required for the  to the impulse from the to

muscle.

o Watch Video Solution

18. Muscle protein _binds Ca?" that is released from the sarcoptasmic

reticulum.

o Watch Video Solution

19. proposed the sliding filament theory of muscle contraction.

o Watch Video Solution

20. The transparent cell wall of the muscle fibre is named as__.

o Watch Video Solution



https://dl.doubtnut.com/l/_yTW2E7EoEN83
https://dl.doubtnut.com/l/_31w369SQWj1z
https://dl.doubtnut.com/l/_863DsELptRa3
https://dl.doubtnut.com/l/_y6Ui5aLckJbv
https://dl.doubtnut.com/l/_xHAQT4R2FmVm

True Or False Statement Questions

1. Intercalated discs make up striations in the skeletal muscle.

° Watch Video Solution

2.The strongest muscle in the body is present in the jaw.

° Watch Video Solution

3. Actin is a globular protein which assembles as a long beady structure

consisting of two helical chains.

° Watch Video Solution

4.The only movable bone in the skuil is the mandible.

. I


https://dl.doubtnut.com/l/_xHAQT4R2FmVm
https://dl.doubtnut.com/l/_itFmt2Hvtar2
https://dl.doubtnut.com/l/_AwLk1jAtDLWu
https://dl.doubtnut.com/l/_2B3Ow6e4A16H
https://dl.doubtnut.com/l/_9iEB4mFm4HUN
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5. ATP is involved in both sliding flament mechanism and in the

maintenance of calcium pump.

° Watch Video Solution

6.In mammals, the cervical regiun of vertebral column always consists of

seven vertebrae.

° Watch Video Solution

7.Adrop in the force of contraction after prolonged stimulation is known

as muscle fatigue.

° Watch Video Solution

8. Involuntary muscles have no myosin or actin.


https://dl.doubtnut.com/l/_9iEB4mFm4HUN
https://dl.doubtnut.com/l/_xNSIeGVgQ8WX
https://dl.doubtnut.com/l/_fh1eTPGDXD9X
https://dl.doubtnut.com/l/_gaHGJGzRnGV7
https://dl.doubtnut.com/l/_09GXrAGVV4z7

° Watch Video Solution

9. Slow muscle fibres posses myoglobin.

° Watch Video Solution

10. Humerus have a sigmoid notch.

° Watch Video Solution

1. Appendicular skeleton form the axis of the skeleton.

° Watch Video Solution

12. Oesteoporosis is a common disease of bone.

° Watch Video Solution



https://dl.doubtnut.com/l/_09GXrAGVV4z7
https://dl.doubtnut.com/l/_yDZ8m9SiEtzs
https://dl.doubtnut.com/l/_o4htCFmgFNJW
https://dl.doubtnut.com/l/_RKOaFh3oEopI
https://dl.doubtnut.com/l/_0EkyRzGThj5C
https://dl.doubtnut.com/l/_Cz50K7KtqxtO

13. During muscle contraction Z-lines get closer.

° Watch Video Solution

14. Paramoecium shows flagellar movement.

° Watch Video Solution

15. Smooth muscles maintain posture of the body.

° Watch Video Solution

16. The sarcoplasmic reticulum is identical with the endoplasmic

recticulum of other cell type, with exception of ribosome.

° Watch Video Solution



https://dl.doubtnut.com/l/_Cz50K7KtqxtO
https://dl.doubtnut.com/l/_r1acSbu9l02E
https://dl.doubtnut.com/l/_h3d7cruPScFf
https://dl.doubtnut.com/l/_GlufXgTw92iF

17. Cytoplasmic continuation in between neighbouring cells is known as

syncytium.

o Watch Video Solution

18. Chronaxie is a state of rigidity that develops in the muscles after

death.

o Watch Video Solution

19. Red colour of red muscle fibre is due to presence of red blood

corpuscles.

o Watch Video Solution

20. Skeletal muscle is developed from myotomes.

o Watch Video Solution



https://dl.doubtnut.com/l/_7op08K7M9xhI
https://dl.doubtnut.com/l/_1HajWoWpdDgb
https://dl.doubtnut.com/l/_TYmMhra4UHds
https://dl.doubtnut.com/l/_shumfEx5Fpdz

Very Short Answer Type Questions

1. Explain a synovial joint.

° Watch Video Solution

2. Name the cells that synthesize collagen.

° Watch Video Solution

3. Which type of movable joint makes the hip joint?

° Watch Video Solution

4.Name the chemical that causes fatigue in the muscle.

° Watch Video Solution



https://dl.doubtnut.com/l/_shumfEx5Fpdz
https://dl.doubtnut.com/l/_wAZ8EdOW0Gik
https://dl.doubtnut.com/l/_6iSj97B5Y3UP
https://dl.doubtnut.com/l/_RXCyAZh2vVKJ
https://dl.doubtnut.com/l/_cbT8uJFckf4y

5. Name the functional contractile unit of muscle.

° Watch Video Solution

6. Name the first two vertebrae of a mammalian spine.

° Watch Video Solution

7.Name the heaviest and longest bon in the human body.

° Watch Video Solution

8. Where is acromion found?

° Watch Video Solution



https://dl.doubtnut.com/l/_cbT8uJFckf4y
https://dl.doubtnut.com/l/_ApWFL6gt5q8p
https://dl.doubtnut.com/l/_VyLSknDDKLlf
https://dl.doubtnut.com/l/_jQRq8zBVNYL0
https://dl.doubtnut.com/l/_E3DQNksBtV3k

9. What is synovial fluid ?

o Watch Video Solution

10. What is the distinctive feature of mandible among all the skull bones?

o Watch Video Solution

11. What term is used for the muscles which draw a bone away from the

body midline?

o Watch Video Solution

12. What are the iwo types of striated muscle fibres?

o Watch Video Solution



https://dl.doubtnut.com/l/_RoZKwVhPTtBM
https://dl.doubtnut.com/l/_iRRSqi7PJgDt
https://dl.doubtnut.com/l/_iq4EaPAF4Tq9
https://dl.doubtnut.com/l/_Yrj5VOKNQQ81

13. The acetabulum is the socket for which bone?

o Watch Video Solution

14. What structures are involved in the knee injury called "torn cartilage"?

o Watch Video Solution

15. Where is the belly of the muscles that extends the forearm located?

o Watch Video Solution

16. Which muscles roll the eye balls laterally?

o Watch Video Solution

17. Which wrist bone is fractured most often?


https://dl.doubtnut.com/l/_MmJHJG0fYPfa
https://dl.doubtnut.com/l/_tIqceqgw7YV9
https://dl.doubtnut.com/l/_3SoYuNo8z5zt
https://dl.doubtnut.com/l/_Qg5UZBO5SVle
https://dl.doubtnut.com/l/_Jc3AVvnCol5R

° Watch Video Solution

18. Which part of ulna is called elbow?

° Watch Video Solution

19. Which leg bone bears the weight of the body?

° Watch Video Solution

20. Name the largest foramen in the skull.

° Watch Video Solution

21. Which parts of a thoracie vertebrae articulate with rib?

° Watch Video Solution



https://dl.doubtnut.com/l/_Jc3AVvnCol5R
https://dl.doubtnut.com/l/_LJYofeygJS1d
https://dl.doubtnut.com/l/_onUVOKvmu8m9
https://dl.doubtnut.com/l/_UEnVofxlSbBx
https://dl.doubtnut.com/l/_rJgcbkRzSMHu
https://dl.doubtnut.com/l/_gRlP3BJVdsVT

22. How is the hyoid bone distinguished from other bones of the axial

skeleton?

° Watch Video Solution

23. Way are the Tumbar verlebrae the largest and strongest in the

vertebral column?

° Watch Video Solution

24. Which part of the hip bone articulates with the femur, and with the

sacrum?

° Watch Video Solution

25. Which muscle protein binds Ca“, released from the sarcoplasmic

reticulum?

| e |


https://dl.doubtnut.com/l/_gRlP3BJVdsVT
https://dl.doubtnut.com/l/_OvDaydV8ECru
https://dl.doubtnut.com/l/_r5yTIjMK4zYT
https://dl.doubtnut.com/l/_5oIZmNucKLKL

I & Watch Video Solution

26. Name the smallest bone in the human body.

° Watch Video Solution

27. Which abdominal muscle aids in urination?

° Watch Video Solution

28. Which part of a bone reduces friction at joints?

° Watch Video Solution

29. Name the type of movable joint present at the knee or at the elbow.

° Watch Video Solution



https://dl.doubtnut.com/l/_5oIZmNucKLKL
https://dl.doubtnut.com/l/_hy8K4u10vHYz
https://dl.doubtnut.com/l/_pSV1XuVv4QGc
https://dl.doubtnut.com/l/_xGQcL9zIEPuE
https://dl.doubtnut.com/l/_5dZhh5toTAmo
https://dl.doubtnut.com/l/_hzO3g5NbbxoF

30. Give the scientific term for the stiffening of muscles soon after death.

° Watch Video Solution

31. Name the thick and thin protein of muscle fibres.

° Watch Video Solution

32. Give the technical term for a continued state of contraction caused by

many repidly repeating stimuli in a muscle.

° Watch Video Solution

33. Nane the tissue which connects muscle to a bone.

° Watch Video Solution



https://dl.doubtnut.com/l/_hzO3g5NbbxoF
https://dl.doubtnut.com/l/_wZo3dCWbpUWj
https://dl.doubtnut.com/l/_ymFQIERPFrph
https://dl.doubtnut.com/l/_iAqCI1YD63kb

34. Give the scientific term for a single contraction of a muscle.

° Watch Video Solution

35. How many bones are present in the skeleton of man?

° Watch Video Solution

36. Give one exaple each of fibrous joint and cartilaginous joint.

° Watch Video Solution

37. What would happen if a muscle is stimulated repeatedly at intervals

not close enough to produce tetanus?

° Watch Video Solution



https://dl.doubtnut.com/l/_YkuzJWqlZHHZ
https://dl.doubtnut.com/l/_zOioCDZhoC05
https://dl.doubtnut.com/l/_ZllEvNZG6f34
https://dl.doubtnut.com/l/_AcMveiJG3PnQ

38. Which property of muscle fibres enable them to cause movement.

o Watch Video Solution

39. Name the filaments that form the cross-briges during muscle

contraciton.

o Watch Video Solution

40. Name the cavity in the pelvic girdle, into which the head of the femur

fibres fits.

o Watch Video Solution

41. Name the best known contribution of Hansen.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dg8iFzCmqop1
https://dl.doubtnut.com/l/_fs4up3BLBk6r
https://dl.doubtnut.com/l/_wYYGqOZsQJnV
https://dl.doubtnut.com/l/_qiCNKLNhxQ4q
https://dl.doubtnut.com/l/_0K2YAXkExOjV

42. Name the bones which form base of the skull.

o Watch Video Solution

43. Which muscle contracts to move your palm face upwards?

o Watch Video Solution

44, What lubricates the freely movable joint at the shoulder?

o Watch Video Solution

45. Name the two special proteins which constitute the contractile

filaments of a muscle fibre.

o Watch Video Solution



https://dl.doubtnut.com/l/_0K2YAXkExOjV
https://dl.doubtnut.com/l/_RL3rPAlbF9A4
https://dl.doubtnut.com/l/_4VO5bbpCjFs7
https://dl.doubtnut.com/l/_oJAwxzlVd9tW

46. Name the skeletal joint which permits movement in one direction

only.

° Watch Video Solution

47. What is the main difference between the pelvic brim in females and

males ?

° Watch Video Solution

48. What would happen if ATP were suddenly not available after the

sarcomere had started to shorten?

° Watch Video Solution

49. Name the bones that make up the pectoral girdle.

° Watch Video Solution



https://dl.doubtnut.com/l/_RNz1huYs7RwA
https://dl.doubtnut.com/l/_VMHrS7VSn7Sj
https://dl.doubtnut.com/l/_o3yPrT6AOCqz
https://dl.doubtnut.com/l/_CySCvIGpr2dr

50. What characteristic of cardiac muscle tissue prevents it frum

undergoing tetanus

° Watch Video Solution

51. Which bands within a sarcomere appear darker and which appears

lighter.

° Watch Video Solution

52. Which are true ribs and false ribs?

° Watch Video Solution

53. Name the pigment which is responsible for the brownish colouration

of the heart.

[ e l


https://dl.doubtnut.com/l/_CySCvIGpr2dr
https://dl.doubtnut.com/l/_A9dPUK4ryNuE
https://dl.doubtnut.com/l/_SGm0XqeScvSo
https://dl.doubtnut.com/l/_oKsKEVGcSA0w
https://dl.doubtnut.com/l/_aw9EQLquQIIS

| ¥ Watch Video Solution

54. Name the three subunits of troponin.

o Watch Video Solution

55. By which ion initiation of muscle contraction occurs?

o Watch Video Solution

Short Answer Type Questions

1. What do you mean by rigor mortis?

° Watch Video Solution

2. Define myasthenia gravis.

e


https://dl.doubtnut.com/l/_aw9EQLquQIIS
https://dl.doubtnut.com/l/_TfPvT7ljWBWs
https://dl.doubtnut.com/l/_5qhdXmLUsjLM
https://dl.doubtnut.com/l/_AxUSr184DhHQ
https://dl.doubtnut.com/l/_xsFvjbQLgIvs
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3. What is traid?

° Watch Video Solution

4. What is excitability and contractility

° Watch Video Solution

5. What is tropomyosin and troponin?

° Watch Video Solution

6. Give three important characters of slow twitch muscle.

° Watch Video Solution



https://dl.doubtnut.com/l/_xsFvjbQLgIvs
https://dl.doubtnut.com/l/_xnNbd4sJQQe9
https://dl.doubtnut.com/l/_vE0sreiMGRYm
https://dl.doubtnut.com/l/_QAgbUXtsJQKV
https://dl.doubtnut.com/l/_DmvpCW4wHIkX
https://dl.doubtnut.com/l/_jGi88U3C1s5Z

7.What are A, 1 and Z band?

° Watch Video Solution

8. What do you mean by 'All or none law'?

° Watch Video Solution

9. Give three important characters of fast twitch musele.

° Watch Video Solution

10. Give two functions of the cardiac muscle.

° Watch Video Solution

11. What is latent period of muscle?

e


https://dl.doubtnut.com/l/_jGi88U3C1s5Z
https://dl.doubtnut.com/l/_gWdbQTixw37y
https://dl.doubtnut.com/l/_mMHOS7WY8LAe
https://dl.doubtnut.com/l/_9j3ulLgVu6fL
https://dl.doubtnut.com/l/_voxFXMFOWfHr
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12. Why is latent peried required?

° Watch Video Solution

13. What are Sarcoplasmic reticulum

° Watch Video Solution

14. What are T-system

° Watch Video Solution

15. Give an idea about muscle fatigue.

° Watch Video Solution



https://dl.doubtnut.com/l/_voxFXMFOWfHr
https://dl.doubtnut.com/l/_ZIcGxZpIEMHC
https://dl.doubtnut.com/l/_tMojAwmaY9eU
https://dl.doubtnut.com/l/_umQMhUt29Qml
https://dl.doubtnut.com/l/_2n9LiOOsgrUz
https://dl.doubtnut.com/l/_EfvM9TbV4ZSx

16. Define isotonic contraction and isometric contraction.

° Watch Video Solution

17. What do you mean by rigor mortis?

° Watch Video Solution

18. Write down the functions of skeletal muscles.

° Watch Video Solution

19. Write about all or none law.

° Watch Video Solution

20. Give a short note on gout.

e


https://dl.doubtnut.com/l/_EfvM9TbV4ZSx
https://dl.doubtnut.com/l/_gmwlKmUpzWCg
https://dl.doubtnut.com/l/_2HAJd74lbaMt
https://dl.doubtnut.com/l/_tVcDZuNOsbsy
https://dl.doubtnut.com/l/_DX0Lv9OnUpqq
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21. How many types of joints are present in human body mention the

types?

° Watch Video Solution

22. What do you mean by intercalated disc?

° Watch Video Solution

23. Write down the functions of skull.

° Watch Video Solution

24. Write about synovial joints.

° Watch Video Solution



https://dl.doubtnut.com/l/_DX0Lv9OnUpqq
https://dl.doubtnut.com/l/_Kj0VPKWhBZbl
https://dl.doubtnut.com/l/_wc0U6736lg3R
https://dl.doubtnut.com/l/_wmcgP6Ix2py0
https://dl.doubtnut.com/l/_LLu0GTYJZAC7

25. Mention the difference of striations in skeletal and smooth muscle.

o Watch Video Solution

26. Name the protein filaments in myofibril.

o Watch Video Solution

27. What is sarcome.

o Watch Video Solution

28. Which type of muscle has not fatigue and why?

o Watch Video Solution

29. What is the utility of the presence of more muscles in birds.


https://dl.doubtnut.com/l/_gWJL5dm8xxiV
https://dl.doubtnut.com/l/_rs8Ge7cBUrWr
https://dl.doubtnut.com/l/_pDJm2kqZJgJg
https://dl.doubtnut.com/l/_QZd1xRKpTPd8
https://dl.doubtnut.com/l/_cN0t9See9XGY

° Watch Video Solution

30. What are myofilaments?

° Watch Video Solution

31. Desribe the electron microscopic structure of actin and myosin

filaments.

° Watch Video Solution

Differentiation

1. Fixed joint and synovial joint.

° Watch Video Solution



https://dl.doubtnut.com/l/_cN0t9See9XGY
https://dl.doubtnut.com/l/_08onTG9L2H6x
https://dl.doubtnut.com/l/_1pUWNN7NIKyT
https://dl.doubtnut.com/l/_7pGm8EVofTgf

2. Ball-and-socket joint and hinge joint.

o Watch Video Solution

3. Pronator and supinator.

o Watch Video Solution

4. Adductor and Abdhuctor.

o Watch Video Solution

5. Muscle twitch and tetanus.

o Watch Video Solution

6. Isotonic and Isometric contraction.


https://dl.doubtnut.com/l/_XZbArAsGODST
https://dl.doubtnut.com/l/_Lk9gG1MeWNwD
https://dl.doubtnut.com/l/_bVlzLP2JAjEi
https://dl.doubtnut.com/l/_CZecSRGid4BF
https://dl.doubtnut.com/l/_bNnvhTFV8MdH

° Watch Video Solution

7.Red muscle and White muscle.

° Watch Video Solution

8. Osteoarthritis and Rheumatoid arthritis.

° Watch Video Solution

Long Answer Type Questions

1. Given an idea about mechanism of muscle contracting along with a

suitable diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_bNnvhTFV8MdH
https://dl.doubtnut.com/l/_saD0XUu2PuKW
https://dl.doubtnut.com/l/_TnRnZsVtAYng
https://dl.doubtnut.com/l/_AsopBEalH8AA

2. Describe the histological structure of skeletal muscle.

o Watch Video Solution

3. Please compare the characteristics of skeletal, smooth and cardiac

muscle.

o Watch Video Solution

4. Describe the bipedal locomotion of man.

o Watch Video Solution

5. What do you know about movements and locomotion? Given the

difference of movements and locomotion.

o Watch Video Solution



https://dl.doubtnut.com/l/_1UIrKr8YdtWB
https://dl.doubtnut.com/l/_GgrbBuDFwvDh
https://dl.doubtnut.com/l/_odi6ICJswd9m
https://dl.doubtnut.com/l/_OjS6PbraQLzn
https://dl.doubtnut.com/l/_O4wbxYQ58CU2

6. Describe different properties of muscles.

o Watch Video Solution

7. Describe the different disorder of skeletal system.

o Watch Video Solution

8. Write about various types of joints along with example.

o Watch Video Solution

9. Write down the purpose of locomotion and the role of skeletal muscle

in locomotion.

o Watch Video Solution



https://dl.doubtnut.com/l/_O4wbxYQ58CU2
https://dl.doubtnut.com/l/_dE8e390HGF1b
https://dl.doubtnut.com/l/_BcN3X15N0QIu
https://dl.doubtnut.com/l/_ICiWN8tN1wR2

10. What did you mean by slow twitch muscle? Given characteristics of

both muscles.

° Watch Video Solution

11. Given an account of the sliding theory of muscle contraction.

° Watch Video Solution

12. What is myofibril? Describe the electron microscopic structure of

myofibril.

° Watch Video Solution

13. Describe the sequence of events of chemical changes during muscular

contraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_jFdxWIZugGQp
https://dl.doubtnut.com/l/_1DTpwDocJPzX
https://dl.doubtnut.com/l/_hssckT2TZaCo
https://dl.doubtnut.com/l/_Gbp9WebeNE1Q

14. Distinuish between isotonic and isometric muscular contraction.

o Watch Video Solution

Ncert Questions

1. Draw the diagram of a sarcomre of skeletal muscle showing different

regions.

° Watch Video Solution

2. Define sliding filament theory of muscle contraction.

° Watch Video Solution

3. Describe the important steps in muscle contraction.



https://dl.doubtnut.com/l/_Gbp9WebeNE1Q
https://dl.doubtnut.com/l/_a8Z6RtjXThAs
https://dl.doubtnut.com/l/_uqub4WAiuOX9
https://dl.doubtnut.com/l/_o41h7m8DuMtY
https://dl.doubtnut.com/l/_ZoHu1dhCJLyZ

I & Watch Video Solution ]

4. Write true or false. If false change the statement so that it is true.

(a) Actin is present in thin filament.

(b) H-zone of straited muscle fibre represent both thick and thin
filaments.

(c) Human skeleton has 206 bones.

(d) There are 11 points of ribs in man.

(e) Sternum is present on the ventral side of the body.

° Watch Video Solution

5. Write the difference between
(a) Actin and Myosin
(b) Red and White muscles

(c) Pectoral and Pelvic girdle

° Watch Video Solution



https://dl.doubtnut.com/l/_ZoHu1dhCJLyZ
https://dl.doubtnut.com/l/_2qGuEpUoxjzs
https://dl.doubtnut.com/l/_W7myTfXaMG4C
https://dl.doubtnut.com/l/_BtEPj2Dhk7Uo

6. What are the different types of movements exhibited by the cells of

human body

° Watch Video Solution

7.How do you distinguish between a skeletal muscle and cardiac muscle ?

° Watch Video Solution

8. Name the type of joint between the following
(a) atlas/axis

(b) carpal/metacarpal of thumb

(c) between phalanges

(d) femur/acetabulum

(e) between cranial bones

(f) between pubic bones in the pelvic girdle.

° Watch Video Solution



https://dl.doubtnut.com/l/_BtEPj2Dhk7Uo
https://dl.doubtnut.com/l/_o2xNsY5sO2dr
https://dl.doubtnut.com/l/_XKtkY1OzhltS

9. All mammmals (except a few) have _ cervical vertebra.

o Watch Video Solution

10. The number of phalanges in each limb of human is .

o Watch Video Solution

11. Thin filament of myofibnil contains '2 F' actins and two other proteins

namely and .

o Watch Video Solution

++

12.1n a muscle fibre Ca™ ™ is stored in _.

o Watch Video Solution



https://dl.doubtnut.com/l/_uNcr2JGhjW1e
https://dl.doubtnut.com/l/_wZbMS6OxRhLn
https://dl.doubtnut.com/l/_mqQmg6d9i2Xo
https://dl.doubtnut.com/l/_pOUQQTg8Geww

13. _and __pairs of ribs are called floating ribs.

o Watch Video Solution

14.The human cranium is made of __bones.

o Watch Video Solution



https://dl.doubtnut.com/l/_pYjZd3iQ7KRp
https://dl.doubtnut.com/l/_95MsnobhhpJY

